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= 1,200
-SESIt| 700,0008 * 2 * 23] 2,800
= 2,800
2= S 400,000 * 2& 128 9,600
= 9,600
EPASE=Es S
98,100& » 2% = 18 3,532




2A:

X XH -
o=

chl: el 3 (=CR-E))
SA - ZE . BR(8) - HRAR - BES of v e HIDE2

= 3,532

M HASFESS 9,000 0 9,000
[ 7,200
= 1,440
Ea 360

04 SRA(RIH )22 BEE=RES S 9,000 0 9,000
OJI2RE3(4UHEER) 9,000,000 9,000
[ 7,200
= 1,440
= 360

A& 2,251,504 2,182,187 69,317
= 1,691,657
= 49,584
== 126,136
o 384,127

AE22 A 1,530,988 1,289,486 241,502
= 1,224,791
= 91,859
o 214,338

307 @I2t01 & 1,530,988 1,289,486 241,502
= 1,224,791
= 91,859
Ea 214,338

1 AMEISXAIEEXS 1,530,988 0 1,530,988
OXE2ZAE 1,530,988,000& 1,530,988
= 1,224,791
= 91,859
= 214,338

NEitg =g X2 368,799 362,731 16,068
= 258,159
o 110,640

307 @I2t01 & 368,799 362,731 16,068
= 258,159
o 110,640

10 Al2ISTIAIEEE 22X 368,799 362,731 16,068
OXISTteHHE 24| 368,799,000 368,799
= 258,159
s 110,640

NSA2AE 2dst X 20,000 20,000 0
= 8,000
Ea 12,000

402 2I2FX=01 & 20,000 20,000 0
=S 8,000

16 -




S SXEBD
AH

HEH: 20|J|ZAHE DA
o9l uEne (e191:82)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
[Ea 12,000
02 RIENZASEZ (01 THR) 20,000 20,000 0
OXEAE Zdal =& Arddl XA
20,000,000& 20,000
== 8,000
[Ea 12,000
IleIC}H); SARI MBI ASTIANE (OrALREE 222 AL X 70,834 63,600 7,234
2 A
= 49,584
< 10,625
Ea 10,625
308 XXM SOIA 70,834 63,600 7,234
s 49,584
s 10,625
s 10,625
13 SI[2SOHe & EAS A 70,834 63,600 7,234
OJtARME SEX ALY 70,834,000 70,834
= 49,584
= 10,625
o 10,625
ZEsHEUeTsMAE =22 260,883 456,370 A195,487
= 208,707
= 15,652
o 36,524
301 LEetE2 N = 260,883 456,370 A195,487
= 208,707
= 15,652
o 36,524
01 Al EE A2 (2RNEXMR) 260,883 456,370 A195,487
02250/ A= +INY 24T
260,883,000 260,883
= 208,707
= 15,652
= 36,524
230 XA (A=2S01SL3IH) 233,171 247,225 14,054
= 186,537
= 42,534
= 4,100
A2 E2280AE X 212,671 247,225 A34,554
= 170,137
< 42,534
201 er2 3| 4,820 4,880 260
= 3,85
= 964




SA SRR
Hm: 2010|EN

Siol: o230] N (ADZHEB5IH) (ol m2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 At2t2ltl 4,400 4,400 0
O2I230! AREE L JIEI=SY)
4,000,000& 4,000
= 3,200
= 800
0012201 MRS EAE
100,000& * 2% = 23 400
= 320
S 80
2 52434l 420 480 260
Ool230122IA B8RS 22 S
35,000& = 10H = 128 420
= 336
< 84
202 04| 7,000 8,000 1,000
= 5,600
= 1,400
01 =LHO LI 7,000 8,000 21,000
O2250 =8 Ol 7,000,000 7,000
= 5,600
=S 1,400
301 EtE N = 500 500 0
= 400
S 100
14 JIEt 243 500 500 0
00230 2BYT 4DBYB
500,000& 500
= 400
= 100
307 glztol & 199,351 232,845 A33,494
= 159,481
== 39,870
0192 & 3=H| 199,351 232,845 A33,4%4
O], ZHUERID|, ALMEF I
eSS 199,351,000 199,351
= 159,481
= 39,870
501 A= 1,000 1,000 0
= 800
= 200
01 2t &2 1,000 1,000 0
OLzsd+=dX d2H HXS3
1,000,000& 1,000
= 800




A SXNEH
Mo 20| EMBEY
c©elr 2A230 XNA(A2SHSLERA) (S & 2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
| = 200
NZoZ2S0AIY X2 (It E2=N) 20,500 0 20,500
= 16,400
[Ea 4,100
301 2eEN= 20,500 0 20,500
= 16,400
s 4,100
01 A2 HSHS(RNEERTH) 20,500 0 20,500
Ot A=220 AtS 20,500,000 20,500
= 16,400
o 4,100
FHAHS SXNAA 23,432,323 22,516,736 915,587
= 12,742,264
=S 2,040,077
s 8,649,982
gojerExsa 23,432,323 22,516,736 915,587
= 12,742,264
= 2,040,077
Ea 8,649,982
el BRI 21,830 22,150 A320
201 er=2 3| 11,390 11,250 140
01 AtR2t2|HI 11,390 11,250 140
OFNUADEZ UL+
700,000 700
OFMHAXSXE EXI AMZ
1,300& * 1,7600H 2,288
ONSEREHE BOIIE YZ44E
4,0002 = 5000K 2,000
OZ ARSI EX =elEHILF ME
1,000& * 1,2000H 1,200
OZ=XIZtE BiSHI
3,820 = 1,1000H 4,202
OHonel2ted RSAF & M= 1,000
-ZOHQ!l FAH(EOHRIS &, EXIZ0I9 ¢,
XHHSHE!) 1,000,000& 1,000
202 04| 8,640 9,600 A960
01 =LHOLI 8,640 9,600 A960
OHMHAXAE HRFH O
8,640,000 8,640
301 EtE N = 500 500
14 IIEt2 83 500 500
OFIAINE WS BA+E
500,000 500
303 Zal= 1,300 1,300
01 2= 1,300 1,300
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2A:
PSR
ool

SINESES N}

FAHS SNXE
o =xsa

- SHRABA) - HRAY - BES

Ofl &F2H

MEE
Ofl &k2h

E QU LEEN Al

= 300,002 * 25 A
= 200,002 * 25K
L 100,002 * 32A

1,300
600
400
300

HH W

6,203,527
4,342,469

558,317
1,302,741

6,837,714

AB34,187

MW

6,203,527
4,342,469

558,317
1,302,741

6,837,714

AB34,187

6,203,527,000&

MW

6,203,527

6,203,527
4,342,469

558,317
1,302,741

6,837,714

AB34,187

O HF=AIE SIIEEI| XE

MW

2,309
1,386
277
646

4,618

A2,309

307 212+01™

Mo W

2,309
1,386
277
646

4,618

N2,309

11 MEISXRAEEES
OZOANFAIE SOIEED| dEXE
2,309,000

Mo W

2,309

2,309
1,386
277
646

4,618

A2,309

O HFAIZ loT, AIZE SSAIE 234l K&

Mo W

4,975
3,482

1,045

4,920

H H W

4,975
3,482

1,045

4,920

01 AR 2EHSFS(RNEXRTHE)
OZOAAHNFAIZ loT, AIZE SSAE 2

o
Hl XI& 4,975,000

H

4,975

4,975
3,482

4,920




2A:
X XH -
o e

=aak

SINESES N}
FAHS SNXE

o =xsa

SA - BE - SRA(SIH) - AIRAY -

Ofl &F2H

MEE
Ofl &k2h

A H

1,045

HoH W

29,122
14,561
10,193

4,368

29,122

402 SIZEXHE0I M

HH W

29,122
14,561
10,193

4,368

29,122

29,122,000

HH W

29,122

29,122
14,561
10,193

4,368

29,122

HoH W

30,400
15,200
10,640

4,560

38,000

AT7,600

307 212+01&

MW

30,400
15,200
10,640

4,560

38,000

AT7,600

30,400,000

MW

30,400
30,400
15,200
10,640

4,560

38,000

AT,600

ZOHQI L Xte] RIZAMS (LML Xtel)

MW

1,006,000
503,000
151,000
352,000

922,698

83,302

101 2124d|

Mo W

1,004,900
502,450
150,835
351,615

921,598

83,302

04 JIZtN2 2N sE+

OFOHeIdXtel XRAS (HLHLRI2])

1,004,900,000&

Mo

1,004,900

1,004,900
502,450
150,835
351,615

921,598

83,302

_21_




2A:
X XH -
o e

=aak

SINESES N}
FAHS SNXE

o =xsa

SA - BE - SRA(SIH) - AIRAY -

By

Ofl &F2H

MEE
Ofl &k2h

o

201

Bt2 &

Il

HH W

500
250

75
175

500

500,000

HH W

500

500
250

75
175

500

HH W

600
300

210

600

b

14 JIEtE &

O&o

H
o 0x

5
f
= 0

I Xtel At

1)
H0
02
=

600,000

Mo W

600
600
300

210

600

ZOHQI L Xtel KIRAFS (AIZERIZ X2 )

MW

206,000
103,000
31,000
72,000

201,888

4,112

101 e124d|

MW

206,000
103,000
31,000
72,000

201,888

4,112

04 JIZtNZ22 NS+

OZOHILXtel XA (AIZERIZ X el )

206,000,000&

MW

206,000

206,000
103,000
31,000
72,000

201,888

4,112

ZoHeI Y Xtel XA (SR Xt2l)

Mo W

442,500
221,500

66,000
155,000

391,437

51,063

307 212t01™

Mo

442,500
221,500

66,000
155,000

391,437

51,063

304,219,000

442,500

304,219

391,437

51,063

_22_




A SXNEH
B Fjo|s =N
Rl ZoHI=XSH (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 162,281
< 45,375
2 106,563
OS+nS-=2XSHE =2XLT2IAL
138,281,000 138,281
= 69,219
s 20,625
s 48,437
ZOHILTte] KFAIL(QAYESAIEE S5 Xt2) 168,000 0 168,000
= 84,000
=S 25,000
s 59,000
307 21201 & 168,000 0 168,000
=2 84,000
< 25,000
2 59,000
11 ABI= XA 2 X 168,000 0 168,000
OLYHNIRALSAEE SatHARI2
At 168,000,000& 168,000
= 84,000
= 25,000
Ea 59,000
gojeli=s K& 4,606,599 4,752,024 A\85,425
= 3,266,619
= 419,994
Ea 979,986
301 LEtE N = 4,666,599 4,752,024 A\85,425
= 3,266,619
= 419,994
= 979,986
01 Al EEABZ2(2REEMR) 4,666,599 4,752,024 A\85,425
OoZoujelds X 4,666,599,000& 4,606,599
= 3,266,619
< 419,994
= 979,986
HoH==(0lx) N 568,235 576,099 AT,864
= 397,765
[ 119,329
T 51,141
301 LEIE NS 568,235 576,09 AT,864
= 397,765
== 119,329
o 51,141

_23_




A SXNEH
B Fjo|s =N
el ZoHeIsXsd (St &)
RA - BE - SHAEH) - HRA - BAS ofl &t e DS
01 A EEATZ(2DEZME) 568,235 576,099 AT,864
OFH=Z (=) X 568,235,000 568,235
= 397,765
< 119,329
T 51,141
Zo=(XHaRS) X 249,708 267,412 A7,704
= 174,795
< 52,439
[Ea 22,474
301 2eEN= 249,708 267,412 A17,704
= 174,795
=S 52,439
s 22,474
01 Al EE AL S(FREXMH) 249,708 267,412 A17,704
O (XtaIS) XA
249,708,000 249,708
= 174,79
S 52,439
o 22,474
HHE AN E2E 458 4,458 4,000
= 229
= 69
o 160
301 2N = 458 4,458 A4,000
= 229
= 69
[Ea 160
01 Al EE A S (2 RDEXMR) 458 4,458 24,000
OMASEOQ el & SAHHl X
458,000 458
= 229
= 69
o 160
Zoel=Hl K& 93,598 72,140 21,458
= 74,878
= 13,104
= 5,616
308 AHXIEMSOIE 93,598 72,140 21,458
= 74,878
< 13,104
s 5,616
18 SIS0t & A AS A 93,598 72,140 21,458
OFoelelsHl X2 93,598,000 93,598

_24_




A SXNEH
B Fjo|s =N
Rl ZoHI=XSH (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 74,878
=S 13,104
s 5,616
ZOHATHE SR+ R 10,067 10,067 0
= 8,062
= 604
o 1,411
301 Eet2 NS 10,067 10,067 0
= 8,052
= 604
Ea 1,411
01 Al EE A S (2 RDEERA) 10,067 10,067 0
OZ 2RI+ 10,067,000 10,067
= 8,052
= 604
= 1,411
HE O W F A 44,020 43,100 920
= 30,814
= 5,282
= 7,924
307 elztol & 44,020 43,100 920
= 30,814
[ 5,282
T 7,924
11 AMEISXAEEES 44,020 43,100 920
ONd & WEXIZ A
44,020,000& 44,020
= 30,814
& 5,282
Ea 7,924
HEZ0He! S4HHIE X3 2,400 2,000 400
= 1,680
< 216
o 504
301 2eEN= 2,400 2,000 400
= 1,680
=S 216
e 504
01 Al EE AL S(FRDEXHA) 2,400 2,000 400
OoigEoiel E4tdE X2
2,400,000 2,400
= 1,680
=S 216
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2A:

X ZH -
o=

SINESES N}

FAHS SNXE

el ZoHeIsXsd (St &)
RA - BE - SHAEH) - HRA - BAS ofl &t e DS
| = 504
2EHEAMEIA XIS 335,039 408,000 AT2,961
= 234,527
= 30,154
Ea 70,358
308 AHAIEMSOIE 335,039 408,000 ANT2,961
= 234,527
= 30,154
= 70,358
18 S| 2SS & AEAIE 335,039 408,000 AT2,961
OgLMHEAMHIA X3 335,039,000 335,039
= 234,527
< 30,14
s 70,358
OSSN 3,492,2% 3,033,517 458,779
= 2,444,607
< 209,538
= 838, 151
308 XtXIEMSO0IH 3,492,2% 3,033,517 458,779
= 2,444,607
== 209,538
ia 838, 151
183 SV 2SO0t & AET AL 3,492,2% 3,033,517 458,779
OBMWUZENR HE(ZENAZ01)
3,492,296,000& 3,492,2%
= 2,444,607
== 209,538
[ia 838, 151
ZOHIESKIEME SN 71,424 24,893 46,531
= 49,997
s 4,285
a 17,142
308 AXIHMSO0IA 71,424 24,893 46,531
= 49,997
= 4,285
o 17,142
183 S 2S0tetE 4R AS AL S| 71,424 24,893 46,531
OZ &S XAME Irts0
71,424 ,000& 71,424
= 49,997
= 4,285
Ea 17,142
22T F=AHESMEIAXE 525,454 632,583 A107,129




A SXNEH
B Fjo|s =N
Rl ZoHI=XSH (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 367,818
=S 31,527
s 126,109
308 AtXIEMSOIE 525,454 632,583 A107,129
= 367,818
= 31,527
Ea 126,109
18 SIS0t HAS A 525,454 632,583 A107,129
OgLHl F2EsAElA XA
525,454,000 525,454
= 367,818
= 31,527
Ea 126,109
SR HuE SSMHIA 249,420 258,960 9,540
= 174,594
= 14,965
[Ea 59,861
308 AXIMSOIA 249,420 258,960 A\9,540
= 174,594
= 14,965
= 59,861
18 SIS0t & AAS A 249,420 258,960 29,540
O FIRl BNE SBAHIA
249,420,000 249,420
= 174,594
< 14,965
s 59,861
LI RRACINERIA 1,923 1,913 10
= 1,346
< 173
s 404
308 XXM SO0IH 1,923 1,913 10
= 1,346
== 173
[Ea 404
13 SI[2S0He 4 A AS A 1,923 1,913 10
O 22 yelay N
1,923,000& 1,923
= 1,346
== 173
o 404
ZOHRIHFAIE HAHE 2stHEdl S K 1,665 1,886 A221
= 666
= 999
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2A:

SINESES N}

B Fjo|s =N
Rl ZoHI=XSH (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
307 lztol & 145,000 130,000 15,000
= 58,000
= 87,000
10 Al SXAAEEHE2EHI2x 145,000 130,000 15,000
OSSHM NSdEHH 29
145,000,000 145,000
=S 58,000
s 87,000
ST LHeS0=0] XJde 29 70,890 72,000 A1,110
< 28,3%
= 42,534
307 lztol & 70,890 72,000 AT1,110
= 28,356
= 42,534
10 Al SXAAEEHE 22X 70,890 72,000 A1,110
OEZHN LAVSOFI| NAME 2
70,890,000 70,890
S 28,356
o 42,534
101 D] Z0He! - JIEH XSS ACIAE 29,701 29,700 1
[ 8,910
T 20,791
307 glztol & 29,701 29,700 1
= 8,910
= 20,791
1 AMEISXAEEXS 29,701 29,700 1
O128 11 HOHe! - IS SRS LA
At ,701,000& 29,701
= 8,910
o 20,791
2222 ANRACE LA 39,924 38,390 1,534
[ 1,977
Ea 27,947
307 elztol & 39,924 38,390 1,534
S 1,977
= 27,947
11 AMEISXAIEEE 39,924 38,390 1,534
OLETMRA2 2T} AP A (&2
=) 5,650,000& 5,650
= 1,695
o 3,955
OoggHMe22X HRRTH ALY
34,274,0002 34,274
< 10,282




2A:

E M

SINESES N}

FAHS SNXE

Rl ZoHI=XSH (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
| = 23,99
AN ZAE SN E2LEHS ASHKIE 3,092 3,016 76
== 927
[Ea 2,165
307 212+01& 3,092 3,016 76
< 927
s 2,165
11 AMEISXAEEES 3,092 3,016 76
ONSXCHAALEC LLEO! QIEi K|
3,092,000& 3,092
= 927
Ea 2,165
el HBSHESAE 9,000 9,000 0
== 3,600
o 5,400
307 212+01& 9,000 9,000 0
< 3,600
= 5,400
1 AR S KIA 9,000 9,000 0
Ol HHSNESAE
9,000,000& 9,000
= 3,600
Ea 5,400
AZIEONQIHE DFAXISXIED] XA 800 800 0
== 400
o 400
307 212+01& 800 800 0
< 400
2 400
11 AMEISXIAEEES 800 800 0
OAMZZOIIME tAXS SR KT A
g 800,000 800
= 400
[Ea 400
ST 2Ss2x FIHNZ 36,822 8,183 28,639
s 10,016
s 26,806
308 AFAIEHMSOIE 36,822 8,183 28,639
[ 10,016
Ea 26,806
13 S [2S0tHet 34 A AS A 36,822 8,183 28,639
O=sg0 522 FIOHE
36,822,000 36,822
= 10,016




2A:

SINESES N}

B Fjo|s =N
Rl ZoHI=XSH (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
| = 26,806
ST SSKE 24A12H =OHKE 104,630 100,872 3,758
== 28,459
[Ea 76,171
308 XtXIEMSO0IH 104,630 100,872 3,758
< 28,459
s 76,171
18 SI[2S0tHet & A A5 At 104,630 100,872 3,758
OSSHM S 24A12F =0
104,630,000 104,630
= 28,459
Ea 76,171
22T =2Es SO 75,582 84,078 A\8,4%6
== 20,558
o 55,024
307 212+01& 75,582 84,078 A8,4%6
= 20,558
2 55,024
1 ABIZRIAI R E 75,582 84,078 18,4%
oIl FAES FIINL
75,582,000& 75,582
= 20,558
Ea 55,024
LA BMus T2 XH 14,000 14,000 0
== 4,200
o 9,800
307 212+01& 14,000 14,000 0
[ 4,200
T 9,800
11 AMEISXIAEEES 14,000 14,000 0
OggRMel BaDS T2 1
14,000,000 14,000
= 4,200
[Ea 9,800
ZOHe! - Lol MSEXII| 2Ot K (XHA) 6,900 0 6,900
201 ger= 3| 6,900 6,900
01 At 2|l 900 900
Ol - =2 BSEXJ|D| 28It 82
900,000 900
2 35244l 6,000 0 6,000
Ol - Lol BSEXI|)| 8=
6,000,000& 6,000
ST 2SKNE SET 24A12F FOHAE 60,872 36,139 25,733
308 AIXIHHISOIA 60,872 36,139 25,733
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2A:

SINESES N}

B Fjo|s =N
el ZoHeIsXsd (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
18 SI[2S0tet 4 A AS A 60,872 36,139 25,733
OSZZ0jY BENA SHR A2 21X
S 60,872,000& 60,872
ZOHQ! XIFALE THEAIE 2 (XHAl) 2,694,530 2,609,885 84,645
307 @120l & 2,690,530 2,609,885 80,645
05 212+ =S 1,936,818 1,865,273 71,545
OZOIIIEXAME 2|
251,571,000& 251,571
OAlz HoHI=X12 2
1,685,247,000& 1,685,247
10 Al SXAAEEHE 22X 753,712 744,612 9,100
OFUESAdE 23 257,848,000 257,848
O HeoIsSA2HEH =2
310,097,000 310,097
Ox=0SHHe 29 185,767,000 185,767
401 Al HIZL 2018 4,000 4,000
01 Al&H| 4,000 4,000
OHM=A2AsHI| E+SAt
4,000,000& 4,000
ZOHRIEA XI& 115,248 122,856 AT,608
307 @20l & 115,248 122,856 AT,608
10 AlRISXAIZEE 22X 81,548 83,856 2,308
OFeIAE = 23| 81,548,000 81,548
11 AMRISXAEEES 33,700 39,000 25,300
O OHAHALE R 33,700
-SoHelel & 10,000,000& 10,000
X012 & AN K SEHH =
8,000,000 8,000
“AIIEONR BFEHWE & HAUS
7,000,000 7,000
-so0fele) ¢ 2,000,000 2,000
-d= AR M=CHa
1,000,000 1,000
-E= Z0e J1sZEI! Ue
3,500,000& 3,500
-UEH0HIS 700,000 700
-0 RegsEEA 500,000 500
-8 WSHMH X=X U2
1,000,000& 1,000
o ALESE A& 31,000 31,000 0
301 EtE NS 31,000 31,000
02 ANRI2HHSHS(HAAS, NLHE) 31,000 31,000
OMASEQ AL2E= N
31,000,000 31,000
ZOQL S JI=XZHE 2 106, 131 96,939 9,192
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2A:
X XH -
o e

=aak

SINESES N}
FAHS SNXE

o =xsa

SA - ZE . BR(8) - HRAR - BES of v e HIDE2
307 lztol & 106, 131 96,939 9,192
05 2IMRIE =3 106,131 96,939 9,192
OZQAEYSED|=XRME 2
106,131,000& 106, 131
HEZ I =L OIAS 30,000 30,000 0
307 @12to| & 30,000 30,000
1 AMISXAIEEX 30,000 30,000
OEZ JIAIESROl At
30,000,000& 30,000
SHOAIE X Ar 20,000 30,000 10,000
307 lztol & 20,000 30,000 10,000
05 2IIRIE =3 20,000 30,000 10,000
ORZUMAIE X3 At 20,000,000 20,000
ZoHe! A THEAIL 2D (XHA) 372,881 360,212 12,669
307 elzto| & 372,881 360,212 12,669
10 Al SXAAEEHE 22X 372,881 360,212 12,669
O 2EsXHE =24
372,881,000& 372,881
AN SIS ARSI AIAE 2t 5,200 5,200
201 2= 5,200 5,200
2 S524g4l 5,200 5,200
OAIAE sXl2teld] 5,200,000 5,200
OIS =SXME A 449,548 0 449,548
401 AIZHIZ SO 449,548 449,548
01 Al&HI 440,048 440,048
OHMISE=SAHH HE
390,048,000 390,048
OZUAUSE=AME A8 S0 =
Sll==g 50,000,000 50,000
03 Al 20HHI 9,500 0 9,500
OZMASE=AIHE e AIZ2U
9,500,000& 9,500
ZES LEZM =208 111X 169,335 0 159,335
= 111,634
< 19,120
s 28,681
308 XXM SO0IH 169,335 0 169,335
= 111,534
== 19,120
[Ea 28,681
13 SI12S0He 4 A AS A 159,335 0 159,335
Ozls8 20 =2t 5 111X3
159,335,000 169,335
= 111,534




2A:

SINESES N}

33 FHAAS SAXNE
Rl ZoHI=XSH (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 19,120
s 28,681
ZESS L2 F20HE 111K 228,823 0 228,823
= 114,411
< 45,765
= 68,647
308 XXM SOIA 228,823 0 228,823
= 114,411
== 45,765
o 68,647
13 SI[2S0He 4 A AS A 228,823 0 228,823
Oz2=5 LEHMQ =2t HE 111X
228,823,000 228,823
= 114,411
== 45,765
o 68,647
Ct2st 83 X2 1,069,510 797,086 262,424
) 442,232
& 179,963
= 437,315
Ct=23t JtE X2 1,029,110 766,386 262,724
Jl 442,232
< 178,363
[Ea 408,515
CH23 =X 51,820 32,520 19,300
307 lztol & 51,820 32,520 19,300
05 2IZtAE = 51,820 32,520 19,300
OJt&EHE 29 X3 33,660
-3323(84,.2%) A
700,000& = 123 8,400
SZUFH(8Y) 29 N
25,260,000& 25,260
Ot=2ehHd g2XZ A 249 X3
70,0002 * 4% = 122 3,360
ONLE XN A 2& X
150,000& = 1& * 123 1,800
O32EA0na 24 X
6,000,000& 6,000
Ottzs UssSAte 2¢ 2,000,000 2,000
OZ&0IF0d cltyud X3
5,000,000& 5,000
JIBHEH 29 636,556 349,980 286,576
Il 318,278
= 95,483
= 222,79
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=aak

+
=Rl
Iy X

SA - BE - SRA(SIH) - AIRAY -

By

Ofl &F2H

H
ol &y

307 212t01™

S

M

636,556
318,278

95,483
222,79

349,980

05 2ItRIE =

OJI=4H

H0
02

636,556,000

S

M

636,556
636,556
318,278

95,483
222,795

349,980

286,576

JIEHIE EAH MSMAE(C

10
4>
0

A H

7,200
2,880
4,320

7,200

307 212to1™

M H

7,200
2,880
4,320

7,200

05 212t S
=

OUZstE SHIAIY A M0

7,200,000

M

7,200

7,200
2,880
4,320

7,200

02

SIEAY FAS MHIA IR

o

A H

20,000
10,000
10,000

20,000

307 212t01™

M H

20,000
10,000
10,000

20,000

20,000,000&

EUNGE

20,000

20,000
10,000
10,000

20,000

M H

65,626
32,813
32,813

63,576

2,050

307 212t01™

A

65,626
32,813
32,813

63,576

2,050

65,626,000

M

65,626
65,626
32,813
32,813

63,576

2,050

247,908
123,954

293,110

N45,202




2A:

Hu: C125 I X
tel: OEst JtE K& (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 37,187
s 86,767
307 lztol & 247,908 293,110 N45,202
Jl 123,954
== 37,187
[Ea 86,767
05 2ItRIE = 247,908 293,110 A45,202
OYZXEA X 80,108,000 80,108
Jl 40,054
=S 12,018
s 28,036
Oolsa0l 222d 36,430,000 36,430
Jl 18,215
=S 5,464
s 12,751
OolIseo Xgsts 36,680,000 36,680
7l 18,340
= 5,502
o 12,838
osgd X 34,100,000 34,100
7l 17,050
= 5,115
o 11,935
odogg X2 40,590,000 40,590
Jl 20,295
= 6,088
o 14,207
OZ 012N A2tz
20,000,000 20,000
Jl 10,000
=S 3,000
s 7,000
AFRIEol X3 30,400 30,700 A300
< 1,600
= 28,800
Artelatel X2 AHY 22,400 21,800 600
301 EtE NS 17,400 16,800 600
02 A2 EH 2GS (FHAAHS, W) 17,400 16,800 600
OYZEA= NERIB MEOET
17,400,000& 17,400
307 gl2to| & 5,000 5,000
1 AMISXAIEEXE 5,000 5,000
OYF2 AERIBC 23tere
5,000,000& 5,000
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S SXEMD
M QROI=XEA

=Rl A=01FX EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
SEERETIRNESENT
45,000,000& 45,000
AY2IFHI(SXFH) 42,480 43,409 929
Jl2Zd8I(SXE ) 42,480 43,409 A929
JI23Hl 42,480 43,409 A929
201 =3 35,520 36,209 689
01 At2t2ltl 32,558 33,247 689
Oggt=3ZH| 8,406,000& 8,406
O=EH| 11,904,000 11,904
O=AD| gitz 330,000& = 1CH = 123 3,960
O&=)| gtz 47,0002 * 2CH = 123 1,128
OdEEHl 425 24| 7,160
-l ey 4,400
- &Y 440,000& * 100 * 4 * 23] 3,520
- EE™ 440,000& * 104 = 23] 880
-t elh 200,000 = 6LH * 22 2,400
—+AX 120,000 = 104 * 32 360
2 5234l 2,962 2,962 0
Ol FA2=Hl 2,962
-CHISARII
1,300,0002 = 38CH * 5% 2,470
-ZelH 4,000,000& * 6CH * 2% 480
—FAX 600,000 = 1CH * 2% 12
202 04l 2,160 2,400 A240
01 =LHAHI 2,160 2,400 A240
OSANEHL HRFA 0]
2,160,000& 2,160
203 =4l 4,800 4,800
M FA2SHIFII 4,800 4,800
ORMEEE =2
400,000& * 12& 4,800
HRes(SXEMY) 10,180 10,180
WRHAXRE(SXEH L) (NASFUYS I NS S LS 10,180 10,180
)
NASFUMEONHNSSEEH HES 10,180 10,180 0
701 JIEtI HSHES 10,180 10,180
01 JIEteI B ES 10,180 10,180
O AN ES 10,180,000& 10,180




